T 6 : Af-er:

Read the following sentences :

(1) 31§ Sici urqq I=91H |

(2) der T frisfa |

In above sentences, you can see the dot on the words like & S TeFl and T, It

is called 379%R. In Sanskrit it is considered to be an independent letter - ¥&d=l i,

Mouth and nose both are used to pronounce it. In short, it is pronounced like ¥.

Two kinds of %R are found - (1) used at the end of a word in a sentence - e.g.,
dTefeh: G&dsh 9afd | and (2) between the word. e.g., €: | In the context of these two
kinds of 3TJ&R main rules of Sandhi are as follows :

(1) If H occurs at the end of word used in a sentence and is followed by a word
(beginning) starting with a consonant, &R () is put in place of (q). e. g. 3%® i
qigH =310 | In this sentence, you can see that there is letter H at the end of the word
3gq and is followed by word Sie which begins with a consonant. Hence ¥ turns into
&M and is written as 3€. In the same way H is turned into 3T{% in Sd. But §
is not turned into TR in WIgH, because it is followed by $=81fH which begins not

with a consonant but with a vowel. (If any word beginning with consonant would have

been used, it would have turned in TR (') e.g. 3& ol g T==NH 1)

(2) If ATER occuring in between the word is followed by any consonant (except
¥, 9, 9, 8 Ushmakshara - S™&X and Antahstha - 37:¥% letter I, ¥, <, 9) then in place
of that TR Parasavarna THIU i.e., the fifth letter Nasal (3TAE®). (e, § 3, T, 7 and
M) of that particular Varga - a7 to which the consonant belongs is written. e. g. G&: | Here
dot on the letter § is 3TN It is followed by letter €, so the fifth letter 9 of that = (T g

g € T - < o) to which € belongs will be placed, so it is written as TUE: |

& o Ed g T | % £
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L q 9 T | 1 1
9 k¢ ® ki 1
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Considering this, if 3T&R is followed by letter : s @ T ¥, § is placed in place
of SN e.g., 3h: > 3T€h: | G@: > Ig@: | T > T | €9 > GH: | Same procedure

should be followed for Sandhi of letter of other afs.

Exercise
1. STEUMER Uy 3Arfdeh foraa |
SO ;WY (T-) IR
(1) e (2) SEHR: (3) = (4) “SrIgy
2. Trafafeatt aern s@RyErgds: g foaa |

(1) wdem e Sfd = |
(2) TEH TF SR USTH Uledq 9 wafd & |

(3) 9TBH @M HHEEd TEIH T |

@) FoIq a9 JH ARHam = fagoomy 9 gefeam 9
3. SCRIUMTIER SRy e WHaviad uiad faea |

IR0 . Bl WRH | — ®ag @RiH |

() wsHE = wea|

) g3 Ud uw divg: w9 T |

(3) wHE FENH W@ GUEafd |

@) o' fedd fooi amenty sfa
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